OFS Fitel LST1U-072/7 and LSTLW 636-299-103-5
Instruction Sheet (LaserWave) Fiber Optic Comcode: 845 866 409
Termination Shelf Installation

Preface

This instruction sheet covers the installation of the LST1U-072/7 and the LSTLW (LaserWave)
Fiber Optic Termination Shelf.

Contents:
(] NN A I N[O 1 I = 2
I I IO Tl = AN o 15 2
STEP 1 - CHECK PARTS AND INSTALL LABELS, GROMMETS, AND RINGS. ........ccoocevvivrernen. 3
STEP 2 — INSTALL SHELF MOUNTING BACKETS AND MOUNT SHELF ........ccoovviiiiieie, 5
T1O-INCH FRAME IMOUNTING . .ttttiitte et ieiittiet e e e s s iitbae e e e e e s s st b b aa e e s e s st aabb bbb e e s e e et eaabb b b eeseeeseabbbbaseeeessssabbbeaeeeseaias 7
VVALL MOUNTING: 1ottiiiiiiitttiitteeiiiiittbeesseessssiatbbsseesssssiabbasteeeasssaabbbaaeeeeessaabbbabeeseessabbbbbeeseesssbbbbaeeseessaabbbbeeess 8
STEP 3 - INSTALL CABLE CLAMP BRACKETS AND RUBBER GROMMETS .......oooooiiviiireee. 9
STEP 4 — INSTALL BEND LIMITERS ...ttt 10
STEP5— INSTALL 6-PACK CONNECTORS TO SHELF PANEL .....ccvooiiiieeiie e 11

STEP6 - INSTALL BUILDING CABLES TO SHELFWITH FRONT AND REAR ACCESS
(NORMAL EQUIPMENT ROOM/CO APPLICATION) ..ottt 12

STEP 7 — INSTALL OSP CABLE (DIRECT TERMINATION) TO SHELVES WITH FRONT AND
REAR ACCESS (NORMAL EQUIPMENT ROOM/CO APPLICATION) ....cccccviiiiiineeeeeeeee, 13

© 2001 Fitel USA Corp
All Rights Reserved
Printed in US.A

Issue 15 November 2001 Page 1 of 13



636-299-103-5
Instruction Sheet

General Notes

® For 50 micron fiber applications, the LSTLW 7-inch Termination Shelf may come
with six-pack SC or ST connector panels or twelve-pack LC connector panels
equipped with “ganged” adapters in either Aqua (LaserWave), Blue (single-
mode), or Beige (multi-mode). The shelf is black in color and may also be
ordered without adapters. The fiber routing and cable management is the same
as the LST1U-072/7 termination shelf.

® This product is intended for indoor use, or outdoors in a suitable protective

enclosure.

List of Parts

Table 1. List of Parts

LOOSE PARTS FURNISHED WITH SHELF

LST1U LSTLW Description Quantity

ID Number * | ID Number *

846 247 427 | 848 826 210 | Mounting Brackets 2
Jumper Retainers 17
Fiber Rings 12
Shelf ID Label 1
Warning Label 2

848 067 369 | 848 826 541 | Cable Clamp Brackets 2
Plastic Grommets 2
Misc. Screws and Nuts --
Bend Limiter, Upper 2
Bend Limiter, Lower 2

* For ID purposes, not for ordering

Page 2 of 13

Issue 15 November 2001



636-299-103-5

Step 1 — Check Parts and Install Labels,
Grommets, and Rings

FIBER PORTS ON
TOP AND BOTTOM
(SEE NOTE 2)

WARNING
LABEL

LST1U-072/7
TERMINATION

SHELF ID /T
LABEL -
7
(178 mm)
JUMPER
RETAINER
an
1/4 TURN
FRONT DOOR
FASTENERS

@ @ . ' ) NOTE 1

6-PACK PANEL

LABEL
(SEE NOTE 3)

PLASTIC GROMMET PROJECTS DOWNWARD
FROM BOTTOM OF TERMINATION SHELF INTO
TOP FIBER PORT OF SHELF BELOW (SEE NOTE 2)

TERMINATION
SHELF

ANY SHELF —

000 0

Figure 1. Termination Shelf

=»NOTES:

— LS-type shelves come equipped with plastic grommets in upper entry ports,
and slotted out lower cable entry ports. The slots will have grommets and will
permit easy lay-in of cables or fibers.

— Grommets installed in fiber ports allow fibers to be routed internally to other
shelves. To install grommets, remove bottom two fiber port plugs. Install
grommets from inside shelf projecting downward as shown above. When
mounting termination shelf above another shelf, remove top fiber port plugs
in shelf below. When mounting under another shelf, remove top two fiber
plugs in termination shelf.

Issue 15 November 2001 Page 3 of 13



636-299-103-5

Instruction Sheet

— Flip-type label with fields on either side. Use one side to record fiber
termination location and other side to record circuit information. Shelf ID label
is provided to key shelf to label which may be removed from door. Shelf
location ID information must be written on both the flip-type label and
matching shelf ID label prior to use.

Step 1 (continued)

Page 4 of 13

. Verify parts against parts list. Connector panels, build-out blocks, and couplers

used with this shelf are ordered/provided separately.
Rotate front door fasteners 1/4 turn and tilt open shelf front door.

Apply shelf ID label to 6-pack panel and warning labels to either inside wall of
shelf - one in front of 6-pack panel, one behind panel.

Twelve fiber rings and six jumper retainers are provided for the rear of shelf. The
fiber rings should be installed for buffered fiber OR the jumper retainers, if
jumpers are to be terminated. See Figure 9.

Eleven jumper retainers (shown above) may be installed now or following 6-pack
connector panel installation.

Return front door to closed position and rotate fasteners 1/4 turn to secure.

Issue 15 November 2001



636-299-103-5

Step 2 — Install Shelf Mounting Backets
and Mount Shelf

@ MOUNTING BRACKET HOLES
FOR LGX® MOUNTING _k

SCREWS LGX NETWORK BAY FRAME
12-24 X 1/2 ED 8C501-50
NUTS 12-24

(5" [127 mm] GUARD RAIL TO FRONT)

FRONT

22312
(567 mm)
\\
\\\ ”/
o
~
MOUNTING P>

BRACKET @ P
>

P NARROW
e FLANGE
-
WIDE
i FLANGE
FRON ;
MOUNTING
BRACKET @
.
SCREWS P
1224 X 1/4 #

Figure 2. Installing Shelf Mounting Brackets

LGX
5" (127 mm) FRAME
GUARD

RAIL

1. Position and attach each mounting bracket to shelf using proper mounting holes

(see above) with two 12-24 by 1/2 screws and 12-24 nuts (with captive
lockwashers).

2. Install shelf to frame with two 12-24 by 1/4 screws per mounting bracket.

Issue 15 November 2001 Page 5 of 13



636-299-103-5
Instruction Sheet

Step 2 (continued)

°
23" (584 mm) FRAME REAR MOUNTING o0 ef

L
SCREWS @ l

12-24 X 1/4

(e
(G

22.312"
(567 mm)

@ MOUNTING BRACKET

MOUNTING BRACKET
HOLES FOR REAR

SCREWS MOUNTING @
12-24 X 112
NUTS 12-24
> /’/
SCREWS
12-24 X 1/4
MOUNTING
BRACKET @
FRAME
UPRIGHTS

Figure 3. 23-inch (584 mm) Frame Rear Mounting

1. Position and attach each mounting bracket to shelf using proper mounting holes
(see above) with two 12-24 by 1/2 screws and 12-24 nuts (with captive
lockwashers).

2. Install shelf to frame with two 12-24 by 1/4 screws per mounting bracket.

Page 6 of 13 Issue 15 November 2001



Step 2 (continued)

19-inch Frame Mounting

636-299-103-5

1. Position and attach each mounting bracket using appropriate mounting holes
(see below) to shelf with two 12-24 by 1/2 screws and 12-24 nuts (with captive

lockwashers).

2. Install shelf to 19-inch (483 mm) frame with two 12-24 by 1/4 screws per

mounting bracket.

SIDE VIEW

(e

L

oo :
4 ° |
USE THESE MOUNTING

BRACKET HOLES FOR
19" FRAME

19" (483 mm) FRAME MOUNTING CONFIGURATION

~
SCREWS

12-24 X172
NUTS 12-24

MOUNTING

BRACKET MOUNTING

BRACKET

@

SCREWS |
1224 X 1/4

Figure 4. 19” (483 mm) Frame Mounting Configuration

Issue 15 November 2001

Page 7 of 13



636-299-103-5
Instruction Sheet

Step 2 (continued)

Wall mounting:

=»NOTE:
lllustration below is for wall mounting with top cable entry. For wall-mounted
bottom cable entry, see illustration in Step 3. Shelf may also mount on 134-type
wall bracket.

1. Install both mounting bracket and cable clamp bracket to side of shelf with three
12-24 by 1/2 screws and 12-24 nuts (with captive lockwashers). Two screws go
through both brackets, while third screw goes through mounting bracket only.
Repeat same for opposite side of shelf.

2. Install shelf to wall surface with two fasteners (locally obtained) per mounting
bracket. Fasteners should be appropriate for wall surface.

CABLE CLAMP

BRACKET @
{w\ WALL MOUNTING CONFIGURATION
@ SCREWS - » 16.312"
1224 X 112 (414 mm)
NUTS 12-24

MOUNT[NG
BRACKET

SCREWS @

APPROPRIATE
FOR WALL
SURFACE

MOUNTING

BRACKET @

CABLE CLAMP
BRACKET

(ON TOP

OF MOUNTING
BRACKET)

Figure 5. Wall Mounting Configuration

Page 8 of 13 Issue 15 November 2001



636-299-103-5

Step 3 — Install Cable Clamp Brackets
and Rubber Grommets

REAR-TOP CABLE ENTRY FRONT-TOP CABLE ENTRY

CABLE CLAMP

BRACKET @

WALL-MOUNTED) REAR-BOTTOM CABLE ENTRY

CABLE CLAMP

BRACKET @

CABLE CLAMP

BRACKET @

Figure 6. Cable Entry Options

1. Position and install each cable clamp bracket to sides of shelf with two 12-24 by
3/8 screws and 12-24 nuts (with captive lockwashers). For wall-mounted shelves,
cable clamp brackets were previously installed with mounting brackets.

Issue 15 November 2001 Page 9 of 13



636-299-103-5
Instruction Sheet

Step 4 — Install Bend Limiters

LOWER BEND LIMITER

Figure 7. Bend Limiter

1. Install upper and lower bend limiters in the jumper ports on the left and right side
of the shelf. The lower bend limiters are installed by snapping them into position.
The upper bend limiters are installed using the double-sided foam tape provided.

Make sure surface of shelf is clean, peel release paper from tape on upper bend
limiter, and press into position.

=»NOTE:

Order CC# 107330565, Set Bend Limiters (Multipack), to equip existing shelves
with bend limiters. Each multipack will equip five shelves (LST1U only).

Page 10 of 13 Issue 15 November 2001



636-299-103-5

Step 5 - Install 6-Pack Connectors to

Shelf Panel
SIDE VIEW
REMOVE o ~
© ' =
TILT
FRONT DOOR
TYPES OF 6-PACK CONNECTORS I C)
/ J]

SHELF PANEL FOR

BUILD-OUT BLOCK: 6-PACK CONNECTORS
REQUIRES SEPARATE

BUILD-OUTS TO
CONNECT JUMPERS

BUILD-OUT CONNECTOR PANEL
COUPLER  REQUIRES SEPARATE

COUPLERS TO CONNECT
OSP FIBERS AND JUMPERS

®

6-PACK
CONNECTORS

Figure 8. Installing Connector Panels

1. Rotate front door fasteners 1/4 turn; tilt door to align with hinge slots and remove.

2. Install couplers to 6-pack connector panels, if used. Six-pack build-out blocks do
not require build-out installation prior to installing build-out blocks to shelf panel.

3. Install 6-pack connector panels or build-out blocks to shelf panel using the snap
fasteners on 6-packs.

Issue 15 November 2001 Page 11 of 13



636-299-103-5
Instruction Sheet

Step 6 - Install Building Cables to Shelf
with Front and Rear Access (normal
equipment room/CO application)

TOP VIEW

CABLE CLAMP

FIBER RINGS
BRACKET ()

FRAME UPRIGHT LGX FRAME
BX et CABLE RETAINER (1)
@BUFFERED IQ'*] BUILDING CABLES (1)
FIBERS 2 & N - <
== bmi.\‘ "‘-h&
, '““m FRAME UPRIGHT
e LU LU L L r t 1 (1 (1 (1 (1 1]
N EOEE RN D O E NSNS
SHELF \ PANEL FOR 6-PACK
MOUNTING CONNECTORS
BRACKET
SIDE VIEW
EQUIPMENT
BUILDING
CONNECTOR CABLES (7)
PANEL
~
USE OF JUMPER RETAINERS TIE-WRAP @
(IN PLACE OF FIBER RINGS)
FOR REAR JUMPER TERMINATION
CABLE CLAMP
OPTICAL FIBER
JUMPER RETAINER /JUMPER CABLE m BRACKET (2)

| 8 [ [ U [ [ N g gy |

Figure 9. Installing Building Cables

=»NOTE:
Ideal procedure for securing building cables is to use spiral wrap, if available,
around each building cable at cable clamp bracket. Tie-wrap should only loop

through spiral wrap to secure cable.

1. Route and loosely secure (tie-wrap) building cables to cable retainers and cable
retainer brackets when used on LGX distribution frame.

2. Loosely secure (tie-wrap) building cables to cable clamp bracket on shelf. Route
buffered fibers into shelf, storing fiber slack in fiber rings as shown above, and
terminate to 6-pack connectors.

Page 12 of 13 Issue 15 November 2001



Step 7 — Install OSP Cable (direct
termination) to Shelves with Front and
Rear Access ( normal equipment
room/CO application)

636-299-103-5

REAR-BOTTOM CABLE ENTRY

PVC @

PROTECTIVE
TUBING

CABLE
CLAMP
BRACKET
12ACABLE
cLamr®

OSP CABLE
TOP VIEW

FIBER RINGS

/

FRAME UPRIGHT J

@\;

B
Ea—
1=

)

REAR-TOP CABLE ENTRY

OSP CABLE

CABLE CLAMP
BRACKET

PVC PROTECTIVE

TUBING @

CABLE CLAMP
BRACKET ()

12acABLECLAMP (D)
OSP CABLE

| L FRAME UPRIGHT

TRV oo

SHELF
MOUNTING

BRACKET

TYPICAL STRANDED/ LIGHTPACK @
OSP CABLE PREPARATION

OSP CABLE

UNIT SPLITTER
(FURNISHED IN

SEPARATE KIT) 095 (2.4 mm) PVC

PROTECTIVE
TUBING

—
=

}e— 35" (889 mm)—Dniﬂ—BI— 25" (635 mm)

PANEL FOR 6-PACK
CONNECTORS

EXPOSED
FIBER

Figure 10. Installing OSP Cables to Shelves

1. Prepare stranded/Lightpack cables typically as shown above using unit splitter.
See 636-299-110 for cable preparation procedures for this and other types of

cable.

2. Secure and ground OSP metallic cables to cable clamp bracket and frame,
respectively, with 12A1 cable clamps (refer to 636-299-110 for details). Use 12A2
cable clamps with OSP nonmetallic cables. The 12A clamps are ordered/provided

separately - one per OSP cable to be secured.

3. Route OSP cable fibers into shelf for buffering, connectorization, and termination

to connector panels or build-out blocks.

Issue 15 November 2001

Page 13 of 13



